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35 : 5 = 6

27 = 3 * 9 

18 760 > 18 670

91 < 91

18 + 47 = 47 + 18

84 – 35 < 84 - 45

75 * 30 >  75 * 20

90 – 27 >  90 - 17 50 * 20 = 500 * 2

Убери неверные выражения



Марафон

112 30 60 81



1 4 способа

2 Фокус

3 8 74 82

4 Ошибка

5 Задача

Итог:

Маршрут



18
35
53

+

1 способ

2 способ

3 способ

4 способ

(18 + 30) + 5 = 48 + 5 = 53 

(20 + 40) – 7 60 – 7 = 53 



    0 ошибок          1 – 2 ошибки        > 2 ошибок



Задание 4. Ошибка

16 – 9 + 23 = 30 74 – 24 - 8 = 58

56 + 14 - 45 = 25 39 + 53 - 28 = 74

74 – 24 - 8 = 58

39 + 53 - 28 = 64

74 – 24 - 8 = 42

39 + 53 - 28 = 74


